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D��8
9���9�
  G#A�	$	�S,�+��ก�+ก��13ก  ?1  �?>  
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 ���������	ก������������  

 ก?=B�9�3�AB�5�/0�D$�	ก��3
2�A  "#$&กB	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  G�5��/A	3�#�B�5
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 ก��3
2�A��-0�5  6?ก��,�I	�ก����ก�+ก��13ก  ?1  �?>G#A�D$ก����	��ก�+
9���?�กก��>�5#/  �D�Gก>�5	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  �	���.5	/.  67$3
2�A�%�ก����ก��
��ก���&?+5�	3
2�A�/0�ก/0A3>$�5�,-0�	%����'*	��	�3���
#�	ก��,�I	�&6	ก��2�#ก����/A	�7$
&?+�,-0���$�5ก��1&	3�
#�	ก��3
2�A  G#A�/��A?+��/A#  #�5	/. 
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��#��.*%'#/&*ก	������ก0��	����กก	����'� 
&
%ก 
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 ก����	��ก�+9���?�กก��>�5#/ �D�Gก  �'*	ก����	�/0�	$	ก��MRก��ก�+��$&กB67$��/A	  
G#A�/ก��MRก67$��/A	�	�P�	ก��8
2�
5��-��?$�A2�
5�?�AL  �P�	ก��8
  G#A67$��	2+
3
����+�
�3�������P,-.	��	>�567$��/A	�,-0�2�#ก����/A	��ก�+��$����+��ก�167$��/A	&?$3��A
��$ก��DB3A��?-�D/.&	+���
�&�567$��/A	�AB�59B��	-0�52	67$��/A	�ก
#�3��D%�	�)  

������	�� �   
&	3�
#ก����	��ก�+>�5#/ �D�Gก  
#/ �D�Gก (1968)  "#$��	�&	3�
#ก����	"3$#�5	/. 
1.3
����+�
��ก�+�/0��	  ��79$�53�5&6	�/02+��	G#A3
����+�
5�	  (task analysis) 

,
2��8���ก�+�/02+��	3B��/��A?+��/A#�AB�5"�  �D$��ก�+�+"�1$�5&?+��ก�+	�.	L  9$�5����A
ก?"ก�B3	�	�05�B3	�#>�5�B�5ก�A&?+2+MRก#$3A3
C/�# 

2.'�+��
	�3�������P�1-.�59$	>�567$��/A	�ก/0A3��ก�+�/02+��	  �'*	ก��9�32��13B�  
67$��/A	�/�3�������P,-.	�,/A5,��/02+��/A	��ก�+�/02+��	�,/A5�#��-�"�$  P$�A�5>�#�3���7$
�3�������P�B�2%��'*	9B�ก����/A	,-.	��	กK2�#��$9���3������+��  

3.�9�/A�ก��MRก3B��3�2+MRก�	#$�	�#1$�5  �B3	�#9$�5MRก��ก��-�	$�A  MRก��ก�+�/0
67$��/A	A�5>�#�A7B&?+�B5���
���B3	�/067$��/A	�/�3���7$�A7B&?$3��$�ก
#�3��D%�	�)A
05>�.	 

4.>�.	�C
1�A&?+��C
9��ก�+  ��$67$��/A	"#$#79�3�AB�5  ��$��5�ก9��5  ��2�D$J�,A	9�

S�A��=	�3/A	��$67$��/A	�%�9���	-0�52�ก3B�J�,A	9�
�/�=8�B�A
05�	>�.	&�ก>�5ก����/A	ก�1>�.	
�=#�$�A>�5ก����/A	  �,��+��-0�	�ก��/A	�/��ก�+�	>�.	�75กK��2��	��,
2��8���A?+��/A#2�ก
J�,A	9�
�/ก���.5�	�05 

5.2�#J�3+�,-0�ก����/A	��ก�+  3  '�+ก����$�-� 
 5.1  2�#?%�#�1�
05��$�&?+9�1�	�5��$67$ ��/A	']
1�9
��$P7ก9$�59��?%�#�1

กB�	�?�5  ��-0��/�
05��$���$9�1�	�5��	�/  ��$�/2�5�3+9B��	-0�5ก�	"'  &?+��	��$�>$��2P�5ก��
�%�5�	'�+��	ก�	>�5�B3	9B�5L   
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 5.2  ?�5MRก�	$	��ก�+AB�A�/0�%���)  '��1'�=5&ก$">>$�1ก,�B�5�	�B3	�/06
#
�,-0���$�ก
#�3���?B�5&�?B33B�5"3  &?+�/ก��2�#&1B5�3?�MRก 

 5.3  ��$&�5���
��	�B3	�/0�%�P7ก9$�5  #/&?$3  ��$�7$6?>�5ก��']
1�9
  ( Feed 
back)  �/  2  ��5�-�  ก���7$6?2�กJ�A	�ก  (Extrinsic feedback)  �-�2�ก�%�1�กก?B�3>�5��7
3B�#/��-�1ก,�B�5�AB�5"�  �3�&ก$">�AB�5"�  O�05��-0�67$��/A	�/,�I	�ก��ก$�3�	$�"'P�5>�.	�/02+
�,
0�,7	�3��D%�	�)  �>�2+�7$G#A��5�ก9#$3A9	��5  �'*	ก���7$6?2�กJ�A�	  (Intrinsic  
feedback) 

������!���ก�!"�����ก��#$ก��ก�% 
1.�P�	ก��8
�	ก��MRก  P$��D$�P�	ก��8
�/0�'*	2�
5"#$  กK�3��D$�P�	ก��8
2�
5  �DB	  

ก����/A	J���  67$��/A	"#$h(5J���	�.	2�
5L  ��#>�1�P#$3A�P2�
5L  ��#,�A��-��/0�A7B�		.%�
2�
5L  &9BP$�2%��'*	9$�5�D$�P�	ก��8
2%�?�5�	ก��MRก  กK�3���$�5�P�	ก��8
��$�?$�A2�
5
��ก�/0�=# 

2.67$ ��/A	�3��/G�ก��"#$MRกM	�	�P�	ก��8
�?�AL  &11  ก���'?/0A	&'?5
�P�	ก��8
MRก  2+DB3A��$67$��/A	�����P2%�&	ก�
05��$��/0�%���)  &?+9�1�	�59B��
05��$�	�.	  
G#A"�B9$�5��B�2�	�
05��$�'?/กAB�A   

3.67$��	�3��#?�5��C
9��$#79�3�AB�5��-���$#7J�,A	9�
  �,��+ก����/A	�7$2�ก
9�3�AB�5  2+'�+�A�#�3?�&?+'@�5ก�	ก���>$��26
# 

4.ก����/A	��ก�+9$�5MRก��#&?+'��1'�=5��$#/>�.	��-0�AL   
5.67$MRก��ก�+9$�5"#$��1�%�&	+	%��,-0�'��1'�=5,�I	���ก�+	�.	  P�5&�$3B�67$��/A	2+

�����P��5�ก9�
05�/0�ก
#>�.	#$3A9	��5กK9��  ก��9�ก�9-�	D/.&	+��$��K	>$�1ก,�B�5&?+3
P/��5�/0
#/  A�5�/�3��2%��'*	�A7B��ก  �,��+67$��/A	��2'�+��
	6?ก��']
1�9
>�59	6
#,?�# 

6.9$�5�%�	�5P�5DB35�3?�MRก  ก����/A	��ก�+9$�5MRก��$����+ก�1�3?�  9$�5�3$	DB35�3?�
MRก  P$�MRก&119B��	-0�5  ��2�%���$67$��/A	��-0�A?$�&?+��	-��	B�A"#$ 

� &�'���(���ก ���ก�%(	ก������	 
�6/A	  "DA��  (2530)  "#$��	�>�.	ก��MRก��ก�+"3$#�5	/. 
1.ก����/A	&11  (Imitating)  �'*	ก���%�9���/?+>�.	L  "'9���/0&�#5��$#7  ��22+�/

ก��DB3A��?-��	>8+�/0�%�9��  G#A�	$	ก���%�9��&11  �%�"'9��>�.	�/?+>�.	L  ก���%��/0�/
67$�%���$#7  ��-�&�#5�/?+>�.	  &?+ก���%�G#A�/ก��DB3A��?-��	>8+']
1�9
 

2.ก���%�G#AA�#&11  (Patterning)  �'*	ก���%�#$3A9	��5  G#Aก��1�ก&	3  ��$�%�
D/.&25  ��-��1�3	ก��']
1�9
��$กB�	  67$']
1�9
��2�%�G#Aก��?�56
#?�5P7ก#$3A9	��5  ��2
D$�"�BP7ก9$�5�/�#/A3�	9�	&�ก  G#A��$�%��?�52�ก�C
1�A3
C/ก����$�%�  �%��?�52�ก�1�3	
>�.	9�	��$h(5  �%��?�52�ก&�#5��-�']
1�9
��$#7  ��-��%��?�52�ก��$��ก��2�ก�%���05 
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3.ก���%�#$3A�3��D%�	�)  (Mastering)  �'*	ก���%�"#$P7ก9$�5&�B	A%�  ����+��ก�1
�3?�  G#A"�B�/ก��DB3A��?-�  D/.&25  &	+	%�  �%���$#7  ��-�"�B�/ก����$#7�7'&11�#L  �,/A5&9B
ก%��	#��3��-0�5  &?+3
C/ก��3B���$�%��+"�  G#A�	$	�3��P7ก9$�5  �3��3B�5"3  �3���5�/0  
�3��'�+��	���,�	C
  �3���#�	  �3��&	B		�	  �3��P7ก9$�59����#�B3	  �3��&>K5&�5 
 4.ก���%��	�P�	ก��8
9B�5L  "#$  (Applying)  �'*	ก���%��	�P�	ก��8
���B��-�
�P�	ก��8
�-0	L  �/0	�ก��	-�2�ก�/0��A�%���&?$3  "#$#$3A�3��P7ก9$�5�	�3?���	����+��  
G#A"�B�/ก��DB3A��?-�  "�B�/ก��&	+	%�>�.	9�	  ก�+13	ก����-�ก��']
1�9
�#L  2�ก67$�-0	  
G#A�	$	ก���?-�ก��ก�+�/09$�5ก���D$�	ก��&ก$'()��  ก��ก%��	#��ก�+�/09$�5ก���D$�	ก��
&ก$'()��  �3��&	B�2�	ก���D$��ก�+	�.	  �	A��2%��'*	  ก��ก%��	#>�.	9�	ก�+13	ก���	
ก��&ก$'()�� 
ก������
!'/�ก	��!"�# 
  9�3&'�9$	   9�3&'�9�� 
 

 

 

 

 
 
 
 
 
 
 
 
 
 

�����  3 

ก����	

��ก�+9��

�?�กก��>�5

#/ �D�Gก 

��ก�+ก��

13ก ?1 �?> 
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 ก��3
2�A��-0�56?ก��,�I	�ก����ก�+ก��13ก  ?1  �?>G#A�D$ก����	��ก�+9��
�?�กก��>�5#/ �D�Gก>�5	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  �	���.5	/.  �'*	ก��3
2�A�D
5�#?�5  
(Experimental  Research)  67$3
2�A#%��	
	ก��9���+�1/A13
C/3
2�A9��'�+�#K	9B�5L  9B�"'	/. 

1.ก����ก&11ก��3
2�A 

2.ก?=B�9�3�AB�5 

3.���-0�5�-��/0�D$�	ก��3
2�A  
4.>�.	9�	ก��#%��	
	ก��&?+ก���กK1�31�3�>$��7? 

5.ก��3
����+�
>$��7? 

6.�P
9
�/0�D$�	ก��3
2�A 

�%����1��A?+��/A#�	&9B?+>�.	9�	  �'*	#�5	/. 
 

1.ก	���ก���ก	��!"�# 

 ก��3
2�A���.5	/.  67$3
2�Aก%��	#�7'&11ก��3
2�A&11�	�05ก?=B���1กB�	 p ��1�?�5  (One  
group  pretest p posttest  design )  #�5J�, 
 

 

      T1  T2 

 

  

��#�?-�กก?=B�9�3�AB�5 

 

     ก?=B�9�3�AB�5                               �#?�5 ( 2�#ก�+�%� ) 

  

         

         3�#6? 

 

2.ก��(�����#(	� 

3�#กB�	 
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 	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  G�5��/A	3�#�B�5&ก$3  (2/1  '�	>%�)  �>9J��/�2�
)  
ก�=5��,���	��  2%�	3	  15  �	 

 

3.

�4����4����/&*/�ก	��!"�#   
 3.1  ���-0�5�-��/0�D$�	ก���#?�5   

���-0�5�-��/0�D$�	ก���#?�5&?+	3�9ก����/0	%����D$  "#$&กB  1)  &11MRก��ก�+9��
�?�กก��>�5#/ �D�Gก  '�+ก�1#$3A  ��ก���'�+ก�1ก����/A	&?+&11MRก��#&?+�%�
&11�#��1กB�	��/A	&?+�?�5��/A	��-0�5ก��13ก?1�?>  2)  ก�����
�&�5��513ก  3)  �ก�  
��-0�5ก��13ก?1�?>  4)  �-0�ก����	�/0��$67$��/A	�/�B3	�B3���ก>�.	  &?+  5)  ก��&1B5ก?=B��	
ก��DB3Aก�	�
#���%�9�1>�5G2�A
�ก� 

3.2  ���-0�5�-��/0�D$�	ก���กK1�31�3�>$��7? 

���-0�5�-��/0�D$�	ก���กK1�31�3�>$��7?"#$&กB  &11'�+��
	��ก�+ก��13ก  ?1 �?>  
G#Aก%��	#�+&		�9K�  30  �+&		 
 

4.��6����ก	�'�	
�!�ก	����ก	�
ก7��������*��.� 

 ก��#%��	
	ก���#?�5  67$3
2�A�/ก�+13	ก��  #�5	/. 
�!2�ก	������	�	/&* "�	���
��	���

/&*�'��� 
��	'�����/�ก	�
/&*����ก��� 

1.ก��'�+��
	��ก�+ก��13ก?1�?>กB�	�#?�5 1  D�03G�5 - 
2.��ก���'�+ก�1ก����/A	  ก���%�&11MRก��#&?+
�%�&11�#��1กB�	��/A	&?+�?�5��/A	  ��-0�5ก��13ก
?1�?> 

3  ��'#��
 1 

3.ก�����
�&�5��513ก 2  ��'#��
 2 

4.�ก� ��-0�5ก��13ก?1�?> 2  ��'#��
 3 
5.�D$�-0�ก����	G#A��$67$��/A	�/�B3	�B3� 2  ��'#��
 4 
6.ก��&1B5ก?=B��	ก��DB3Aก�	�
#���%�9�1>�5G2�A

�ก� 

2  ��'#��
 5 

7.ก��'�+��
	��ก�+ก��13ก?1�?>�?�5�#?�5 1  D�03G�5 - 
 
 
 

5.ก	��!

�	����*��.� 
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 ก��3
����+�
>$��7?2�กก��3
2�A�	���.5	/.  �	�B3	�/0�'*	>$��7?�D
5'�
��8  67$3
2�A�%�ก��
3
����+�
G#A�D$G'�&ก�����,
3�9��
�%���K2�7'  �B3	>$��7?�D
5�=8J�,3
����+�
�	-.����D
5
�3����/A5 
 

6.��!�!���/&*/�ก	��!"�# 
6.1  �P
9
,��8	�  �,-0�1��A�A6?�+&		กB�	&?+�?�5ก���#?�5  67$3
2�A�D$�B��S?/0A

&?+�B3	�1/0A5�1	��9���	 

6.2  �P
9
�$�5�
5  �,-0��'�/A1��/A1�3��&9ก9B�5�+&		��ก�+ก��13ก?1�?>  67$3
2�A
�#��1�B�  t  (Pair Sample t-test) 
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�����  4 
:�ก	��!"�# 

 
 ก��3
2�A��-0�56?ก��,�I	�ก����ก�+ก��13ก  ?1  �?>G#A�D$ก����	��ก�+9��
�?�กก��>�5#/  �D�Gก>�5	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  �	���.5	/.  67$3
2�A	%���	�
6?ก��3
2�A  9��3�9P='�+�5�
&?+���9
��	ก��3
2�A  #�5	/. 
 
1.:�ก	�,�;�	ก	���ก0�ก	���ก  ��  
��%'#/&*ก	������ก0��	����กก	�
���'�  
&
%กก(���������ก	��'��� 
9���5  1  6?ก��,�I	�ก����ก�+ก��13ก  ?1  �?>G#A�D$ก����	��ก�+9���?�กก��
>�5#/  �D�GกกB�	&?+�?�5ก���#?�5>�5	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3   

�	��, ก��	����� ��������� 
1 15 21 
2 17 22 
3 18 24 
4 15 23 
5 16 25 
6 17 21 
7 18 21 
8 15 25 
9 15 26 
10 16 24 
11 15 24 
12 17 24 
13 18 23 
14 15 25 
15 14 26 

�+&		�S?/0A/ S.D. 16.07/1.35 23.60/1.72 
 2�ก9���5  1  ,13B��+&		��ก�+ก��13ก  ?1  �?>>�5	�ก��/A	D�.	'�+P���ก��'Q
�/0 3/3  กB�	ก���#?�5�/�B��S?/0A  16.07  �+&		  �?�52�กก���#?�5G#A�D$&11MRก��ก�+
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ก��13ก  ?1  �?>G#A�D$ก����	��ก�+9���?�กก��>�5#/  �D�Gก&?$3  	�ก��/A	�/�+&		
�S?/0A  23.60  �+&		 
 ��.5	/.  �+&		>�5	�ก��/A	&9B?+�	&�#5"#$#�5ก��h 
 

0

10

20

30

 
2.ก	�
���#�
��#�
�	���ก�(	�
(	
<���#
������ก0�ก	���ก  ��  
�����
��ก
��#�&�6������+=ก0	�>���  3/3  ก(���������ก	��'��� 

67$3
2�A"#$�%�ก���'�/A1��/A1�3��&9ก9B�5�B��S?/0A�+&		��ก�+ก��13ก  ?1  �?>
>�5	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  กB�	&?+�?�5ก���#?�5G#A9�.5���9
��	���"3$3B�  
�+&		ก��13ก  ?1  �?>�?�5ก���#?�5  �75ก3B�กB�	ก���#?�5  ��.5	/.6?ก��,
�72	

���9
��	  &�#5#�59���5  2 

 
9���5  2  ก���'�/A1��/A1�3��&9ก9B�5�B��S?/0A�+&		��ก�+ก��13ก  ?1  �?>>�5
	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  กB�	&?+�?�5ก���#?�5 

'������� �%�		 S.D. t P. Value 
กB�	ก���#?�5 16.0667 1.33452 -10. 931 .000 

�?�5ก���#?�5 23.6000 1.72378   

 2�ก9���5  2  ,13B�  กB�	��/A	  	�ก��/A	�/�B��S?/0A�+&		��ก�+ก��13ก  ?1  �?>  
16.07  �+&		  �	>8+�/0�?�5ก���#?�5�/�B��S?/0A  23.06  �+&		  ��-0��%�ก���'�/A1��/A1
�3��&9ก9B�5>�5�+&		��ก�+กB�	&?+�?�5ก���#?�5  ,13B�&9ก9B�5ก�	�AB�5�/	�A�%���)
��5�P
9
�/0�+#�1  .05  G#A�/0�+&		�?�5ก���#?�5�75ก3B� 
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3.:��'���/&*����ก�������!'�	�:�ก	��@!���! 
 2�กก��67$3
2�A"#$	%�	3�9ก���&?+3
C/ก�����D$,�I	�'()��  67$3
2�A��='6?ก���#?�5
G#A�D$6?�/0"#$2�กก����5�ก9  &�#5��A?+��/A#  #�59���5  3   

9���5  3  6?ก���#?�5�D$	3�9ก���9��&6	�/03�5"3$ 

����	����	
��� ����=ก:� 
�	�
�7����
�. �!�����#��"��*��
�������� 

-��7"�B�/&�5275�2��$
	�ก��/A	9�.5�2�%� 

-�-0�ก����	"�B
�?�ก�?�A 

-�/ก�����
�&�5��513ก
G#Aก����$��53�?�	ก��
�%�5�		�ก��/A	�/�3��
ก�+9-��-��$	�	ก���%�5�	
��ก>�.	�,-0��A�ก"#$��53�? 

-  	�ก��/A	�/�3���	�2�	
ก����/A	��ก>�.	 �,��+
�#KกD�1�?B	�ก� 

-  3
C/ก����$��53�?
'�+�16?�%���K2
�%���$	�ก��/A	�/
�3��ก�+9-��-��$	
&?+9�.5�2�%�5�	
��ก>�.	 

-  ก��	%���ก���
'�+ก�1ก����/A	
����$	�ก��/A	
��ก���/&11MRก��#
����$	�ก��/A	�%�  
�%���$	�ก��/A	�/
ก��,�I	�ก��
13ก?1�?>��ก>�.	 

-  �3����-0�
�ก/0A3ก�1�,?5
�8
9���9�
��
��	��$	�ก��/A	�$�5
กB�	��/A	&?+�?�5
��/A	�,-0���$�ก
#
1��A�ก���3��
�	=ก�	�	9B�ก��
��/A	 

->�#�3���	�2�	
��-0�5�/0��/A	 

-3
C/ก����	"�B
	B��	�2 

- 	�ก��/A	�/�3����B�2&?+
9�.5�2�	ก���%�5�	��ก>�.	 

-  	�ก��/A	�/�B3	�B3�&?+
9�.5�2��/A	��ก>�.	 �/ก��
DB3Aก�	�%�5�	�
#��
�%�9�1>�5G2�A
 

 

  

 

 

 

 



12 

 

�����  5 
����  �A!��	#:�  �*�
������ 

 
 ก��3
2�A��-0�56?ก��,�I	�ก����ก�+ก��13ก  ?1  �?>G#A�D$ก����	��ก�+9��
�?�กก��>�5#/  �D�Gก>�5	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  �	���.5	/.  �/3�9P='�+�5�
�,-0�
,�I	�ก����ก�+ก��13ก  ?1  �?>G#A�D$ก����	��ก�+9���?�กก��>�5#/  �D�Gก>�5
	�ก��/A	D�.	'�+P���ก��'Q�/0  3/3  G#A�/���9
��	ก��3
2�A3B�  	�ก��/A	D�.	'�+P���ก��'Q�/0  
3/3  �/0�D$3
C/ก����	G#A�D$ก����	��ก�+9���?�กก��>�5#/  �D�Gก�/��ก�+ก��13ก  ?1  
�?>�?�5ก���#?�5�75ก3B�กB�	ก���#?�5 

67$3
2�A�%�ก���#?�5ก�1ก?=B�9�3�AB�52%�	3	  15  �	  ���-0�5�-��/0�D$�	ก���#?�5  �'*	
	3�9ก���ก����/A	ก����	9���?�กก��>�5#/ �D�Gก  "#$&กB  1) &11MRก��ก�+9���?�กก��
>�5#/ �D�Gก  '�+ก�1#$3A  ��ก���'�+ก�1ก����/A	&?+&11MRก��#&?+�%�&11�#��1กB�	
��/A	&?+�?�5��/A	��-0�5ก��13ก?1�?>  2)  ก�����
�&�5��513ก  3)  �ก�  ��-0�5ก��13ก?1
�?>  4)  �-0�ก����	�/0��$67$��/A	�/�B3	�B3���ก>�.	  &?+  5)  ก��&1B5ก?=B��	ก��DB3Aก�	�
#��
�%�9�1>�5G2�A
�ก�  �%����1���-0�5�-��/0�D$�	ก���กK1�31�3�>$��7?  "#$&กB  &11�#��1
��ก�+ก��13ก  ?1  �?> 
 

����:�ก	��!"�# 

6?ก��3
2�A,13B�  กB�	ก���#?�5  	�ก��/A	�/�B��S?/0A�+&		��ก�+ก��13ก  ?1  �?>  
16.07  �+&		  �	>8+�/0�?�5ก���#?�5�/�B��S?/0A  23.06  �+&		  ��-0��%�ก���'�/A1��/A1
�3��&9ก9B�5>�5�+&		��ก�+กB�	&?+�?�5ก���#?�5  ,13B�&9ก9B�5ก�	G#A�/0�+&		�?�5
ก���#?�5�75ก3B� 
 �	ก���กK1�31�3��D
5�=8J�,  ,13B�  	�ก��/A	�/�3����B�2&?+9�.5�2�	ก���%�5�	
��ก>�.	  �3���.5�/�B3	�B3�&?+9�.5�2��/A	��ก>�.	  �/ก��DB3Aก�	�%�5�	�
#���%�9�1>�5G2�A
 

ก	��A!��	#:� 
 2�กก��3
2�A�	���.5	/.  ,13B�  	�ก��/A	"#$��1ก��'��1'�=5��ก�+ก��13ก?1�?>��$�/
��ก�+&?+�=8?�ก�8+��5#$�	�8
9���9�
�'*	"'9����9���	ก����/A	�/09�.5"3$  G#A�3��
G##�#B	>�5ก����/A	9���?�กก��	/.�-�  	�ก��/A	"#$��/A	�7$2�ก��ก����/0	�ก��	-�2�ก9%���
��/A	  "#$,�I	���ก�+ก��13ก?1�?>2�ก�P�	ก��8
2�
5&?+�P�	ก��8
2%�?�5  �3���.5
	�ก��/A	"#$��K	�3��ก$�3�	$�>�59�3��5�AB�5D�#�2	 
 �/0�'*	�3��G##�#B	>�53
C/ก����	G#A3
C/	/.กK�-�ก�����
�&�5��513ก  �'*	��53�?�/0
��1��$ก�1	�ก��/A	�/0�/�3���	�2&?+9�.5�2��/A	��ก>�.	  �ก� ��-0�5ก��13ก?1�?>�'*	ก��
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ก�+9=$	��$�52=#�	�2��$ก�167$��/A	�ก
#�3���	=ก�	�	&?+6B�	�?�Aก�1ก����/A	.  ก���D$�-0�
ก����	G#A��$67$��/A	�/�B3	�B3���ก>�.	  �%���$67$��/A	"#$�/�B3	�B3��	ก����/A	��ก>�.	  �'*	
&�5275�2�%���)�/0�%���$	�ก��/A	9�.5�2��/A	  ก��&1B5ก?=B��	ก��DB3Aก�	�
#���%�9�1>�5G2�A

�ก�  �%���$	�ก��/A	�/�3��������/DB3Aก�	�
#���%�9�1>�5G2�A
 
 �AB�"�กK9��  �/>$��
#�/0�%���)2�กก��3
2�A�	���.5	/.กK�-�  ��79$�5���0	���3���7$���BL  
�,-0���$	�ก��/A	�/�3���	�2��ก>�.	   ��79$�5�/&11MRก��#��$	�ก��/A	�%��,-0�,�I	�ก��13ก?1
�?>>�5	�ก��/A	�AB�59B��	-0�5  ��.5	/.&11�#��12+�%���$���1�3��ก$�3�	$�>�5	�ก��/A	  &?+ 
ก�����
�&�5��513ก�%���$�#Kก�/�3��ก�+9-��-��$	�	ก����/A	��ก>�.	 �,��+�#Kก�A�ก"#$
��53�? 
 
�*�
������"	กก	��!"�# 
 ก����	��ก�+9���?�กก��>�5#/  �D�Gก�/02+"#$6?���u�C
v�/0�=B5�3�5�AB�5�9K��/0"#$	�.	  
67$��$�59$�5�/ก���9�/A�ก���/0#/G#A�	$	ก��MRก']
1�9
2�ก�P�	ก��8
2�
5 
 


